= o
E 0l & AF 2 H A
20158 & =0l & LBHSIH THR
SM: HPD
Ba: Y L K
Selr A 2el fEH)
= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il Bl RE2
WS 1,154,144 4,144,140 A 2,989,996
M S 9l TH Akt 1,131,944 4,122,888 A 2,990,944
2| 35,195 40,587 25,392
oF o Akt 35,195 40,587 A5,392
201 LBt d 34,095 39,487 A5,392
01 AR 2tel 34,095 39,487 25,392
OZ &t
25,000 x1002 235 5,000
OAMYg - HEEN MA
35,000& 50 1,750
O=lAHAM diOIMZEH EU
190, 000 * 13K 2,470
O=2Jt8 = 16,000 12& 192
OZ L ALR 80,000 *3H 202 4,800
OxE3d 20,0003 x10AH+12& 2,400
OA2HZ2IH (S HAL) HEE
4,000,000& 1 4,000
OSE M 40,0003 *100= 4,000
== 2 1,250& =1,5004 1,875
ORFIDEIH I 250,000& 128 3,000
OA A A8+
384,000& 128 4,608
202 o4dl 100 100 0
01 = LH o4 1l 100 100 0
OXNgHEHZ 04 i
20,0003 x1H «5 100
203 R =&l 1,000 1,000 0
03 ANHFAHRFX 1,000 1,000 0
OZd gRFd 1,000, 000& 1,000
SSMA 2tel 538,254 591,897 A 53,643
SHEMA MEHEAN & 30,800 31,760 A 960
201 L2l 30,800 30,800 0
01 At 22l 28,300 28,300 0
O Mt 28,300
=2 20,000, 000& 20,000
EARSRT 7,000,000& 7,000
28l 700,000& 700
H2SE 600,000 600
02 =24l 2,500 2,500 0
oREz & 2,500,000& 2,500
“TEXEE SHEE 85,000 85,000 0
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2M: MR
I WIS L etz
©e B MA 2te (9 ® =)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
201 fEt2E | 85,000 85,000 0
02 S2=24Hl 85,000 85,000 0
OA=SAIE= Mol=+ SH=IHl 40,000,000 40,000
OaHba SHH (XS4
45,000,000 45,000
SEXNY 29 422,454 475,137 A 52,683
201 2Bt2 Yl 408,454 437,137 28,683
01 AtR 22l | 9,860 14,350 A4,490
ORzkz sd= 50,0002 «2CH x12& 1,200
OARFIE AEE 8,160
e A 200,000 1CH 62 1,200
SEHA 170,000 1CH+x6E 1,020
L2EAE 90,0002 «11CH*6E 5,940
O BEAN X N (S™MES)
50,000& x102l 500
02 s3=29Hl 398,594 422,787 N 24,193
OXtS AHAl 3,845
HegsEx 550,000 »2CH 1,100
HeSsEX 500,000& »2CH 1,000
- HESER 80,0003 *9CH 720
-UHEsER 115,000& = 1CH 115
S agEsER 65,0003 =4 CH 260
e RPN, 28,5003 »20CH 570
hz2sExx 79,5003 = 1CH 80
OsiEEE 24,913
Hegssxt 317,000& »2CH 634
HeEsEX 279,000 »2CH 558
- BESsEX 224, 7103 »9UH 2,023
HEseExt 748,000 « 1CH 748
- SESEX 386,000 = 1CH 386
CAESER 301,000 »3CH 903
the st = Xt 601,000& »2CH 1,202
sdstExt 410, 0003 »2CH 820
e RPN, 370,000& »20CH 7,400
AT 620,000 »14CH 8,680
2 SEA 643,000 = 1CH 643
M SR 458,000 »2CH 916
OXgedie 883 3,000,000% *23] 6,000
Oxt& el 83,688
dEX 1,772,000 «2CH 3,544
HESEX 1,000, 0003 =2CH 2,000
- HESER 1,000, 000 *9CH 9,000
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SN HH-S(BN) - MBAY - B il HlnE2
tHesext 2,160,000 = 1CH 2,160
- SEsEgn 952,000& = 1CH 952
CAESEI 1,000, 000 *3CH 3,000
-HEstE X 2,500,000 »2CH 5,000
ER=CIR=PN 1,939, 0002 »2CH 3,878
2ot = Xt 1,100, 000& «20CH 22,000
HAX 2,051,000 »14CH 28,714
-2 SESX 1,040,000 = 1CH 1,040
- AHE ST X 1,200,000& »2CH 2,400
Oxgrs #+4 280,148
BRSE=DN; 1,8443 x4 5502 & *2CH *90% 15,103
HESEX 1,649% x1,3202| & *2CH *90% 3,919
ZESEX 1,844& x1,3202] & *9CH *90% 19,717
e st 1,649& x4, 2102 & =1 CH *90% 6,249
- SEsEX 1,649% x2,6402| & *1CH *90% 3,919
- AESEX 1,649& x1,8002 Ef *3CH *90% 8,015
g st=2 Xt 1,649% x4,4602| & *2CH *90% 13,239
St 1,649& x3, 2252 & *2CH *90% 9,573
Lot =Xt 1,649% x1,8002| Ef *20CH *90% 53,428
HAX 1,649% x6,4402] B = 14CH *90% 133,807
-2 SESX 1,649% x2,9602| & *1CH *90% 4,393
&2 2 TH X 1,649& x2,9602! & *2CH *90% 8,786
405 RHoHF S HI 14,000 38,000 A 24,000
01 XL 2 ZF S| 14,000 38,000 224,000
OXtg A 14,000
J2ESE 14,000,000& = 1CH 14,000
A2 2] 359, 146 3,292,449 A 2,933,303
AN EE 2 222d 20,000 2,871,000 22,851,000
201 2Bt | 20,000 0 20,000
01 At 22/l 20,000 0 20,000
OArR 4 0l&Hl (OIAHHI ) 20,000, 000& 20,000
HAAIE | 7,000 84,185 AT7,185
401 Al HI & 28I 7,000 84,185 ANT7,185
01 A& HI 7,000 84,185 ANTT7,185
O=- g2 d2)| M2l 7,000,000& 7,000
HAMRA - 24 332,146 337,264 ~5,118
101 124 dl 117,341 113,032 4,309
04 JI2ZHHZ2XREES 117,341 113,032 4,309
OEAMEA 22 117,341
- QI H| 63,330 x5 248 78,530
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SN WD
Hu: WIIY L Wz
2t

=i M=

SA - FE - BI(EA) - NRAY - By 0l &t San DS
- =X 63,3303 «5H 492 15,516
SN 63,330 «5H x 122 3,800

=l 7,000 5% 2492 8,715
- o= 140,000 5% 13| 700
st 40,000 x5 23] 400
=00z RE= 97,846,000& *4.5% 4,404
- NE8E RE3 97,846,000& *1.5% 1,468
CAHEE RES 97,846,000& *0.7% 685
- ZUALBE S 97,846,000 *2.995% 2,931
LOEIIRAYEE RE=S
2,931,000& *6.55% 192
201 Lt 191,365 201,685 A 10,320
01 AFR2t2lHl 54,816 65,136 210,320
OHAES 720,000 128 8,640
Oztar & 2tel 25,316
SHEX 720,000 122 8,640
S E & 8,400 *36H x12& 3,629
BHIIME X 8,400 *5801 128 5,847
E=E=ON| 30,0003 202t A %128 7,200
OJIAHA & 2el 720
e S 30,0003 *201 212 720
SEF=XE CCTV S X 230,000& 122 2,760
OJIAA Y2 2A U= 140,000& »2H 280
OJIHA S22 24 7,000 «2H %1202 1,680
OFEA BEF=XE =XE M
302 *50004 <202 * 128 3,600
OYLE ARA(SUIHD) A% 2 el
1,720,000 «6 10,320
OFAESH EH 300, 000& 52 1,500
02 =24l 136,549 136,549 0
Os83 34 3,600& *250= *23| 1,800
Oaxg&dd 84 1,000, 000& 13l 1,000
OHERA E= 34,258
22 3,839&+4, 181 m’ 16,051
M1 2t 3,362&+3,720m 12,507
- H2g 2 2,470 «662.06 M 1,636
- 23 1,897& %1,276.63m 2,422
SAMEIIEFTE 3,362% «488.31m’ 1,642
Oz - g2 g4 dtd)| A2
5,000, 0002 1Al 5,000
Ozd= ReldEx 29 3,000, 000& 12 3,000
OAd= ARA HIEE A 6,000, 000& =12 6,000
OZAIIA AHE 48,480
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2N

=E'F 2 e
= g4 29 eEH)
- Bl(3) - MRAY - BAS il 2
- QYA 5t 3,700,000& = 12& 44,400
lssd 23 3,276
-SUHE 23 80,0003 =3CH =128 2,880
-RI8ME 23 16,5003 *2CH 128 396
HEIER2B 11,136
-dal=s 23,5003 *323| & x 122 9,024
-CCTVE 2 88,000 23| & x12& 2,112
- 2 XU ALK (SHS) 22 750,000& x12& 9,000
HUTV= A E 250,000 128 3,000
SHEENEEZ 2Y 14,700,000& *23| 29,400
OSHAE |X - 2= 33,425
P EAIAE 153,920, 0003 * 141 x6% 9,236
- HESHY SERCUALE
131,558,000& * 141 x6% 7,894
- IPAE D 218,000 & *200CH x6%*50% 1,308
R PNR=RSEE D) 300,000& *30CH 6% 540
- M3 40,0003 *500CH *6% 1,200
- SAESD 300,000 *5CH 6% 90
DEOSHEX 29,650,000& *14] x6% 1,779
o Y oareal HESE|
27,597 ,200& 14 x6% 1,656
tHalolal &&s ]
65, 131,640& * 14! x6%*50% 1,954
Orelgr s &4l 5,670,000 » 14l x6% 341
Mot =sIISEEX £ SHALAEH
28,848,000 » 14l x6% 1,731
HatSst sFHAIAE 16,980,000 * 14! x6% 1,019
- IS S Y AAE(ARS) 4,493,500 * 14! x6% 270
Ei=3=a=P 8,900,000& » 14! x6% 534
- SMSA H 6,790,000& » 14l x6% 408
CAMEX ZALE I 24,402,000 * 14! x6% 1,465
- RUSHAEZ RA2E 2,000,000 *14] 2,000
29 8,612 0 8,612
& S| 8,612 0 8,612
MU EZFHSHI 8,612 0 8,612
H=H A& 308,000& = 14CH 4,312
OHEHl & FAX 4,300
- 2 oHEH| 4,000,000 = 1CH 4,000
- FAX 300,000& = 1CH 300
e [(RH2 1) 22,200 21,252 948
22,200 21,252 948
22,200 21,252 948
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1,008
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A 60

H3r
Wikd
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16,392
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Off &t 24
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